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SER O FRIRXIFERE
HX3—2 BEYITHERTHEEESNHEHEICET HEIE1/2) IR 20247 )%
AR ONE | BmEs S0IBNOZ7 ETEa | 7L TG | & P il 2
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
= = £ H\ L [ T2 A\ L Sz = = T2 A\ = T A = | =
: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
Thilst 1.00| 000 ~ 7.71 9887 | #h4t | 000 ~ 7.71 | 2.30 12.33 Thilst 1.00 | 500 ~ 1059 98.87 | Th4t | 500 ~ 1059 | 2.30 12.33
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zhst 1.00| 000 ~ 7.70 98.71 | #h st | 000 ~ 7.70 | 2.40 12.86 Fhst 100 | 500 ~ 11.13 98.71 | Z#hiist | 500 ~ 11.13 | 2.40 12.86
3 100kN/m##8%2%| 1.00| 000 ~ 0.08 101.16 |3m%#Z3 - ~ - - —|[ 100kN/m%#%5| 1.00 |12.05 ~ 12.28 101.16 |3m%#A3 — ~ — — —
Fhst 1.00 | 008 ~ 786 100.00 | #hkist | 000 ~ 7.86| 248 13.27 Fhst 1.00 | 500 ~ 12.05 100.00 | #hkist | 500 ~ 1228 | 2.48 13.27
4 100kN/M#ZEH#B % % - -~ - —|3mEHBZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ — — —
Zhst 1.00 | 000 ~ 758 9698 | #h s | 000 ~ 758 2.31 12.37 Fhst 1.00| 500 ~ 10.30 96.98 | h kst | 500 ~ 10.30 | 2.31 12.37
5 100kN/mM#Z#B % % — -~ - —|3mEHBR S -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ — — —
Zh st 1.00 | 000 ~ 749 9572 | #h st | 000 ~ 749 203 10.87 Thst 1.00 | 500 ~ 10.30 95.72 | hiist | 500 ~ 10.30 | 2.03 10.87
6 100kN/M#EH#BZ % — -~ - —|3mEHBZS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zhst 1.00 | 000 ~ 7.68 9848 | #h s | 000 ~ 768 | 2.23 11.93 Zhst 1.00 | 500 ~ 10.30 9848 | Zhlist | 500 ~ 1030 | 2.23 11.93
; 100kN/mM#E#B %% - -~ - —|3mEHBEZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ — — —
Zhst 1.00 | 000 ~ 759 9713 | #hus | 000 ~ 759 2.31 12.34 Fhst 1.00| 500 ~ 10.30 97.13 | #hist | 500 ~ 10.30 | 2.31 12.34
g 100kN/M%EH#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Fhst 1.00 | 000 ~ 743 9480 | Zhiust | 000 ~ 743 | 201 10.76 Fhst 1.00 | 500 ~ 10.30 9480 | #hiist | 500 ~ 10.30 | 2.01 10.76
0 100kN/mi%#8%2%| 1.00| 000 ~ 0.06 10091 |3m%#Z 3 -~ - - —|[ 100kN/m%#%%| 1.00 1090 ~ 11.06 10091 |3m%#A 3 -~ — - -
Zhst 1.00 | 006 ~ 785 100.00 | #h kst | 000 ~ 7.85| 2.33 12.46 Fhst 1.00| 500 ~ 10.90 100.00 | #h kst | 500 ~ 11.06 | 2.33 12.46
10 100kN/m#%#%5%| 1.00]| 000 ~ 0.04 100.52 |3m%#Z3 -~ - — —|[ 100kN/mMi%E#EZ%| 1.00[10.61 ~ 10.70 100.52 |3m%#Z3 -~ - — —
Thist 1.00 | 004 ~ 7.82 100.00 | Zhkist | 000 ~ 7.82| 225 12.05 Thilst 1.00 | 500 ~ 10.61 100.00 | Zh kst | 500 ~ 10.70 | 2.25 12.05
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
zhst 1.00| 000 ~ 7.76 9967 | Zhs | 000 ~ 7.76 | 2.19 11,72 Thils 1.00 | 500 ~ 1047 99.67 | Th4 | 500 ~ 1047 | 2.19 11.72
12 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B - ~ — — —
Thilst 1.00 | 000 ~ 5.81 7272 | ZhUs | 000 ~ 581 | 1.92 10.27 Thilst 100 | 500 ~ 6.97 7272 | Ths | 500 ~ 6.97 | 1.92 10.27
13 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZ B -~ — — —
Zzhs 1.00 | 000 ~ 465 5794 | Zhs | 000 ~ 465 2.29 12.27 Thils 100 | 500 ~ 7.90 57.94 | Th4 | 500 ~ 7.90| 2.29 12.27
14 100kN/mM#%#B % % — - ~ — —|3mZEFHBZD -~ — — —| 100kN/m#%#E % % — -~ — —|3mZE#ZD — ~ — — —
Thist 1.00 | 000 ~ 5.71 7141 | Zhist | 000 ~ 0.00] 1.57 8.41 Thilst 1.00| 500 ~ 6.93 7141 | #hst | 500 ~ 6.93 | 157 8.41
15 100kN/mM#%#E % % — -~ — —|3mEFEBZR5 -~ - - —| 100kN/m#%#EZ % - -~ - —|3mz#Z B -~ - - -
Zzh st 1.00 | 000 ~ 6.06 7600 [ Zhst | 000 ~ 6.06 | 1.77 9.45 Thst 100 | 500 ~ 6.94 76.00 | Z#hst | 500 ~ 6.94 | 1.77 9.45
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BR3—2 EEYIEATILEESNDHRICET HFIE2/2) EEEEE 20244
AR ONE | BmEs S0IBNOZ7 ETEa 7L D e
- SUEFH O T iRICHIET 514 SUERIHPA
A4S TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
&2 R 4 .(Er,s Tjﬁﬁb(z)@ﬁﬁﬁﬁ 73(3)’\3%#5 R 4 Timﬁggzg;kqi .(.:—,ma)k jj(gl)\;tnié R 4 .az)t J:jﬁﬁb(z)o)ttlaj 73&3(53 B 4 J:jﬁﬁb(z)o)ﬂ.’.ﬁ .?n-c)k jn(g')ﬁcf)é
16 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00 | 000 ~ 5.05 6296 | Th s | 000 ~ 5.05( 2.08 11.15 Thns 1.00] 5.00 ~ 6.70 6296 | Thst | 500 ~ 6.70 | 2.08 11.15
17 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st — — ~ — —| EhLst — ~ — — — Zzh st — — ~ — —| Ehus — ~ — — —
18 100kN/M#E#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst — — ~ — —| =hLst - ~ — — — Zh st — — ~ — —| Ehust — ~ — — —
19 100kN/M#ZEH#B % % - -~ - —|3mEHBZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - - —
Zh st — — ~ — —| EhLst — ~ — — — Zh st — — ~ — —| Ehus - ~ — — —
20 100kN/mM#Z#B % % — -~ - —|3mEHBR S -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 3.16 4043 | This | 000 ~ 3.16| 2.51 13.44 Thst 100 | 500 ~ 7.00 4043 | #hius | 500 ~ 7.00 | 251 13.44
91 100kN/M#EH#BZ % — -~ - —|3mEHBZS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 434 5422 [ Zhist | 000 ~ 434 | 1.97 1057 Zhst 100 | 500 ~ 500 5422 | #hst | 500 ~ 500 | 1.97 1057
100kN/mM#E#B %% ~ 3mEHERD ~ 100kN/mM%EH#B %% ~ IMERBZ D ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhst ~
100kN/M%EH#B % % ~ 3mEHERD ~ 100kN/mM%E#B % % ~ IMERBZ D ~
Zh st ~ Zhist ~ Zh st ~ Zhst ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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